Name:

Find the area of the following parallelogram

12 cm 7 cm
1 2.
5cm 2Ccm 3 cm
7 cm
Area :7x12=84 square cm Area : ___square cm
Perimeter :2x(12+5)=34 cm Perimeter : cm
10 m 8 m
3 4.
6 m 4 m 4m 6 m
Area :___square m Area :___square m
Perimeter : m Perimeter : m
5 6.
3 cm 4 cm
5cm 5cm
11 cm 9cm
Area :___square cm Area :___square cm
Perimeter : cm Perimeter : cm
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Name:

7 8.
4 ft 10 ft 2m 3m
5 ft 7 m
Area :___square ft Area :___square m
Perimeter :  ft Perimeter :  m
9 10.
6 m 8 m b ft 6 ft
10 m 13 ft
Area : __ square m Area : __ square ft
Perimeter: m Perimeter : ft
11. 12.
8 ft 10 ft 7 m 11m
14 ft 12m
Area : __square ft Area :___square m
Perimeter :  ft Perimeter : m
Answers :
1. 50 square cm ; 34 cm 7. 20 square ft; 30 ft
2. 14 square cm ; 20 cm 8. 14 squarem ;20 m
3.60 square m ; 28 m 9. 60squarem ;36m
4.32 squarem ; 28 m 10. 65 square ft; 38 ft
5. 55 square cm ; 32 cm 11. 112 square ft ; 48 ft

6. 36 square cm ; 26 cm 12. 84 square m ; 46 m 5 %



